ou

2 [6]+ (2 ]x[+ ] =[2]+[3]+13]
[6]+ ([]x[xD -[5]+[2]+
3 6 et 7 (I'ordre n'importe pas
4 3 mouvements
5 1 livre
6 25 jours
7 71070 grammes
8 18 et 36 (I'ordre est importa
9 1 sol: 6 cm
10 1 sol: 19 régions
11 1 sol: 352 cm
12 1 sol: 436
13 3 solutions:
205 11]25 322[14]2
16 24 6 23
18/7]9 1]8]17]19 13[12] 4 [21]15]10]
20[5[11]25 10[15]21] 4
16 24 6 12
18719 1]8]17]19 13[23] 2 [14]22]3 |
205 [11]25 10[15]21] 4
16 24 6 12
18/7]9 1/8]17]19 13 3 [22]14] 2 [23]
14 1 sol: 125 cm?
15 1 sol: 97 cm3
16 1 sol: 52 cm?
17 2 solutions:
05 558 (050558
1(1)4 (7, (1)4(7)
2usals | (B3UE4]
‘ (3 s\ o AQ 5\\

6 9 6

18

1 sol: 1109 cm?




